SN o |
. multiplikation av brak (blandad fraktion)

namn: Datum: Poéng:
4 4 I 1
— X — = — X — =
6 6 3 7
3 1 1 7
— X — = ]— X ==
8 7 6 8
1—1-><—6-_ 1g_><12__
2 9 3 3
1 6 2 2
— X — = —_ X - =
8 9 3 3
2 7 2 3
]—- x — = — X — =
5 9 4 6
1 7.3
28 9 4
4 1 1 4
— X — = — X — =
9 7 9 9
1 7 2 7
— X — = — X — =
6 8 7 8
2 1 6 1
— X — = — X — =
5 6 9 3
llxl— llxl—
4 7 5 3
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multiplikation av brak (blandad fraktion)

Datum: Poéng:
I 1 1
X - = —
3 7 21
1 7 49 1
l-xo=—=1—
6 8 8 48
2,225 7
33 9 79
2 2 4
— X — = —
3 3 9
2 3 1
— X — = —
4 6 4
7 3 49 13
_xl_:_zl_
9 4 3 36
1 4 4
- X = = —
9 9 &l
2 7 1
— X — = —
7 8 4
6 1 2
X — = —
9 3 9
1 1 2
l-x - ==
S 3 5
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